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Answer Question No. 27 in about 50 words.
Explain the three forms of caste being politicised. 3

Answer Question No. 28 in about 100 words.

Why do we need political parties? 5
Or
State five functions of a political party.
SECTION - D
ECONOMICS
Marks - 13
Answer Question Nos. 29 to 31 in a sentence each.
Why is secondary sector called manufacturing sector? 1
Can you prove that Indo-Mynmar Trade treaty is an informal trade?
1
What is meant by Balance of payments? 1
Answer Question No. 32 in about 30 words.
Write two demerits of H.D.I 2

Answer Question No. 33 in about 50 words.
Can you explain the dominance of the secondary sector in Manipur?
3
Answer Question No. 34 in about 100 words.
Explain the functions of Reserve Bank of India. 5
Or
Explain the ways in which the deposits in the banks are invested to
the public as credit for various purposes. Give five points.

k*kkkikkkkikkikkikk

27" M X
SOCIAL SCIENCE
Full Marks - 80
Pass Marks 20
Time: Three hours
The figures in the right margin indicate full marks for the questions.

SECTION -A
GEOGRAPHY
MARKS - 27
Answer Question Nos.1 and 2 in a sentence each.
1. What type of hazard is found in Manipur? 1
2. Why are minerals known as mineral fuels? 1

Answer Question Nos.3 to 5 in about 30 words each.
3. What is the significance of the border roads? 2
4. What are the two technological reforms in the Indian agriculture?
2
5. Name two places where chromite deposits are located in Manipur.
2
6. Draw a full page outline map of India and mark and label therein the
following: 1+1=2
Areas of mangrove forests

Answer Question Nos. 7 to 10 in about 50 words each.
7. Mention the distribution of rainfall of the places where the
Evergreen, the Deciduous and the thorn forests occur in India.
3
8. Suggest three measures for the conservation of energy. 3
9. Explain the factors that are responsible for water scarcity in India.
3



10. Explain the characteristic features of the Intensive Subsistence

11.

12.

13.

14.

15.

16.

Farming practised in India. 3

Answer Question No. 11 in about 120 words.
Explain the factors that have led to the localisation of Tata Iron &
Steel Company (TISCO) at Jamshedpur. 5
Or
Why are sugar industries shifting towards south India? Explain by
giving five reasons.

SECTION- B
HISTORY
Marks - 27
Answer Question Nos.12 to 15 in about 50 words each.
Show how the Biritish disturbed the traditional tribal system in India.

3
Name the inventors of : i) Open Hearth Furnance ii) Puddling
process & iii) Vertical Convertor. 3
Show how the wave of globalisation improved the standard of
living? 3
Why was the Battle of Shangshak important in the Manipur front
during the Second World War? Give three reasons. 3

On the map of India drawn as answer to Q. No. 6 of

Geography portion, locate the places with names, where:

(a) The place, with name, where the first session of the Indian
National Congress was held. 1+1=2
(b) The place, with name, where violence broke out due to which
Gandhiji suspended the Non-cooperation Movement in 1922.
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18.

19.

20.
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25.

26.

Answer Question Nos. 17 to 19 in about 30 words each.
Give two uses of Newcomen steam Engine. 2
How has the printing technology undergone massive changes
over more than the last 500 years? 2
Give two resons why Lord Rippon repealed the Vernacular Press
Act in 1822. 2

Answer Question No. 20 and 21 in one sentence.
What was the basis of Satyagraha? 1
Why did the system of Metternich collapse? 1

Answer Question No. 22 in about 120 words.
Give an account of the Liberal Nationalism of the 19th century
Europe. 3)
Or
Give an account of the important events of the Revolution of 1848
in Germany.

SECTION - C
POLITICAL SCIENCE
Marks - 13

What is gender division? 1
Why did the Indian constitution makers avoid the word
“federation”? 1
In what ways does democracy transform a subject to the status
of a citizen? 1

Answer Question No. 26 in about 30 words.
Explain the way in which Indian type of federation was formed.
2



